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Question 1 (10 marks)

a)  Subtract 2x? + 4x% — x — 9 from 5x* — 2% + x? + 8. 1 f
a2 4 3
b)  Simplify ( 3x7y )3 . (2“3’ )2 5
12x “y
¢) Expand and simplify (36’ + 2)(0 — 5) - (26‘ — 3)2 3
d)  Factorise fully 18x% - 12x — 16 2
x+2 x-3
Simpli + 2
e) implify > 3
Question 2 (10 marks)
. x>+ 1
a)  Simplify 5 2
x4+ 2x +1
b)  Simplify 1 : 3
impli -
x2+2x-8 x> -8
¢) Solve
i 3(2x-4)<303x-1)-x 3

i.  (QBx+1)2x+1)-4x-2=0 2
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Question 3 (10 marks)

a)  Change the formula so that "p" is the subject.

_l_+l:5
P q

b)  Find two consecutive numbers of which the sum of the squares is 145.
[First form an equation and then solve]. .

c) Solve

. 1 1
i -

=3
xX-—35 x =2

d)  Copy the following diagram twice and shade in the following sets.

i. PUQONR X
i. Pn(QUR) |
(X

7

Question 4 (10 marks)

a) Solve
l

2 = 3d + 11
5S¢ + 2d = 18

2x? ~3y% =23
x2 -2yt =7

b)  List all the subsets of the set {1, 3}.
c) |4=16, |B|=5

i What is the greatest possible value of ’A A B] ?
ii. What is the least possible value for ’A ) Bl ?
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Question 5 (10 marks)

a) 240 university students take part in a demonstration, all of them either carrying banners or
sitting down in the road or both. 84 carry banners and 204 sit down in the road. By drawing a
Venn Diagram and showing the relevant information, answer the following questions.

1. How many students sit down in the road and carry banners?

ii. How many students do only one of the activities?

b)  Write a clear definition of a rational number.

c) Express 0.3 45 as a fraction in its simplest form.

d)  From the following set of numerals list the subset including the irrational numbers:

1
3/27,4J0.09,0.144 . 7, —1.615, —83

Question 6 (10 marks)
a)  Expand and simplify

(35 + V2 J35 - 242)

b)  Rationalise the denominator and simplify

2Jx = 4y
2\/;+\/;

c)  Find the values of a ,b and ¢, given that ¢ is not a perfect square, if

(2\/5—\/5)2 =a+bJc

d) Do the following graphs represent functions? Give reasons for your answer.

A i, J4

i \ﬂ il.«/\ » 4 /\/»
AR ’

v v v
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Question 7 (10 marks)

a)  Give the natural domain and range of

.y =
i. y=4+x%-3
b)  Given f(x) = 3x% + 2x — |

i. evaluate f(-I)

Sx+h) - f(x)

ii.  and simplify

h
a — 2b
c)  Simplify
b 6b> — ab — a®
4p® - 16 + 2
d)  Simplify 2]7 + f
p-+2p+4 pt-8p

The End




ST GLORGE GIRLS HIGH SChppL

76/& (| MATHEMATICS Common) Téeyr |
SoruTions
Hoestion |
oL> 57@"—-2.):.3+x:'+‘3-—C'Z-k_"ﬂ“f-x"—x—‘?)
=5'7<_"—Z>a3+?<-7'+°6——2&“—4—><—L+k + 9

+ 3 2
= 3% — 2507 = 3 e 4 17

H 2k katyla

I'Z:j

— al)(_'p Lird

r_> 3t~ i5e "ZC—/O~(‘(~C2’—I?.<_+‘1>

= 3. - 15¢ t+2cC 10 - 4t + 7 -9

= -c<® ~ e -9

Z(qxl—éx, - 8>

P~ 72,2

I

?_(‘77(_1+ém—f2.x—8> S b
7—((‘?xb+éu>-—<lzn 1‘a>> £
2 (35 (3 +2) - 4(3x+,_>>
2-(3:«.4%-}(3;‘,—4)

¥

éx.) “1dx

I

i

3(0Get2) o 2(x=3)
6

6

= Bt b+ 20—

20072,

it

Ruestion 2.

&y e+ D= x4 D)
(Gesid™

2
= P — 2 1
o+ |

| — t
(>+ w)(x—-l) (x—L)(kt"ﬂ Lo + )

9

ALy (Ge+ud
(x* ‘+>(7L - ’),.)(2(.7'4'—2.7¢_+ 4) Gt 4 -2) CauL + 2% ¢5.>

I A g

(&% 4}(% —-L> (G4 2x +4)

2
e+

CIL_—v— %)(7(_— L>QL_L + 2x 4 ‘1‘)

Dy 6x ~ 1T & G 73 -

bl T B T
—Z7L B C‘1
x 2 ~3£

@ Br+Dar) —bx -2 = O (3‘)(—"'7('2’(#');0
o 6T B w2 SR, SN 2:1’ v .f’i
O Z P s
s x
Fi 4x -3
2Zx -t FO
25 = |

e L % 9 5 AN

e e




Ruestion 3

P %
{ - -
~ = 53 I
a/
p= X
5rl‘~|
l,) Let 20 awd 11 be Hwo consecutive numbers
x,L + (e+ l)l = &
WU Tt 2on = IS
2" 4 2 - 14y = O
7(,1- + 0 - 72 = O
Cx_—rq>()‘_—8> = O
Either »x+94 =0 o w =% = O
e = —9 x =g
the hos consecutive wumbers are  either
-9 and -3 or B sl 9
r__> | - [ = 3
e =S

3(e-5y(e -2)

e =L = e + 5 T Bt L2000 4 3O
T o= 3t -2l + 30D

= O
Je - 772 + 94 = O
e = 7 E 4G — 3¢
2.
= 7% Ji3
2.
':/!’/Ll&/ x = 7*4\]!3 or PIo— 7—ﬁ
2

(v

=
%




Question 4 b {3, 13y, 1y, o
SENO) 2c -3d =000 (O
Sc 424 =08 ® 9 () lAnBl = 5
O=s ¢y JAve| = ¢
1I0c - 15d =55 __ (%
@ =2
10c + 4k =36 (B
® -®
194 = 9
A = I
sub. d=~1 Lt (O
2+ 3 = 1t
e = 5
<= 4

._3:)‘- =23 ®
:J’—zjl—-v ®
@2
(R AL 4 y
O -®
yo =1
Y =+ 3

o - |8 = 7
=25
x =213
the  saplubons arz
y_:‘:’5=3 or 7L,="'S_)-j:3
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Lot R be +he sel of
shudants  sithigg en dhag
w3 36 ad
Let B be +he set of
shelents carryig bauness
| Rae] = 43

[ Ave t -lnas] = (a2

by A rational aumber i any number that cow be

cxlorafse_d as o (Fraction

Dw\D( 17 ":

A

O WL\‘L{.L G 15 G v-\L(‘jef
L i

[ v 1 2RAO ‘.—\Lejw

o<

f¢4uéawl numbd—r :; Qa. r\.wmb&{' —(wa Caa éa

f,x)o/e:'-s(.d as & er./iq_f‘;ﬁ or recwfr.;tj Aecieral

) let x> = O©.24wSHS4¢5 ...

10D s = 34 S45 454%S5

293¢ =  DByw-q.

x- = 34F%
790
i}
5€

ar zmy seh Had Acludes  Hlaese hoo

Membess

Q\}%\—;o-« [
) GI)" - edo « 30 — ¢
= w5 - 3flo -«

= 41 - 3o

) (207 -~ 432G — 48D
BRI CIEEETY

= l+-x.—«2_.§>cj - 2 ) + oy

e =y
- Yo ——4,\)’313 £y

Hoe =3
+
<) « +bdc = (11\‘—5—"!\3_3>
= 20 — w5 o+ 3
= 2% - 4Al5
- o= 2% b= -4 and =15

)

A () Yes , every pont oon fle  curve hay o wague

% cooral-.vdu""-

D) No ' Coile dha verties! I '*0—:4) e, 4 verhical
drawsn 'H'\/Dmﬂ“k 4o Sme- ot any va lue ol x
s cut Hhe goph meore than vace

Qi.') Ves , eack {;ola..'f on  the cune his o raigue

x worri-lua.‘—c




Ruestwon 7
o) (0 all real o exczpl oo o= 3 o x € TR o 93
/‘W\/QL/.\”CVM real 3 eKUZ’fﬁ 3 = O ok 3 5@ :j#:o
CK) W‘S~~ﬁ “’\.A w2 JE w € R
gt 3R, 920
b o FCD = 3 -2 -
= O
& C(x+b\) = 3(en L\)L + 2(x+ h\ -
= 3(><_l+7->g\«+kl>+7_mf7_l-\—!
= Bt bk DL 4 Lol + 21 -
LG = €0 = 2o v boche + 3 4+ 2o 4 21 o - (;C@
" ~ "
= 3"-l+é>cL\+'5L\l4'L>g1—1\«~l~—5>L-L-Zu+l
h
= L)(—L\ + 3"\’— + 2L
"
= G + Dho4+ 2.
o « —2b P A
bb¥-ab o™
-ab
= a-17b - -2ab, 2ab
LY - Bab +2ab -a™
= G~ 2b

(6b™ -3eb) + (Zab -a®)

i

@ -2b

3b(2L - m) + a(2Tb-a)

L

a —2b

(2b-a)(3b+ )

(3b+a)

A)

L D S TGS S
prHTp + 4 TPz

#t(p»1>(p+t><()—L3(p"+ 2p + 4\
({’L* Zpra)(pr)

e (p-2)”

e




